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gug;gsT
xU vy;iyapdhy; milf;fg;gl;Ls;s Nkw;gug;gsT xd;wpd; msT gug;gsT MFk;.

rJuj;jpd; gug;gsT

rJuj;jpd; gug;gsT =  xU gf;f ePsk; X  xU gf;f ePsk;
=  a x a
=  a2  rJu myFfs;

nrt;tfj;jpd; gug;gsT

nrt;tfj;jpd; gug;gsT =  ePsk; X  mfyk;

=  a x b
=  a b rJu myFfs;

Kf;Nfhzpapd; gug;gsT

nrt;tfk; ABCD gug;gsT =  ePsk; X  mfyk;

=  a x h
=  a h rJu myFfs;

nrq;NfhzKf;Nfhzp ACD gug;gsT =      x a x h

nrq;NfhzKf;Nfhzp ACD gug;gsT =      x q x h

nrq;NfhzKf;Nfhzp ABD gug;gsT =      x p x h

Kf;Nfhzp ABC gug;gsT =      x q x h     x p x h

x h ( p + q )

x h x a

a h

  Kf;Nfhzp ABC gug;gsT =      x a x  h

    =       a h

Kf;Nfhzpapd; gug;gsT =      x mb x  nrq;Fj;Jauk;

a myFfs;

   a myFfs;

a  myFfs;

  b  myFfs;

1

2

a  myFfs;

  h myFfs;

A B

C D
  A

 B      p    D q         C
    a

h

1

2

1

2
1

2
1

2
1

2

1

2

1

2
     A

        h

B a     C

1

2

1

2

1

2



2 juk; 8tTdpah tlf;F

c + k; :-
1. rJuj;jpd; gug;gsitf; fhz;f?

rJuj;jpd; gug;gsT = xU gf;f ePsk; X  xU gf;f ePsk;
=  5cm X 5cm
=  25cm2

2. nrt;tfj;jpd; gug;gsitf; fhz;f?

nrt;tfj;jpd; gug;gsT = ePsk; X  mfyk;

    =  6cm X 9cm
     =  54cm2

2. Kf;Nfhzpapd; gug;gsitf; fhz;f?

Kf;Nfhzpapd; gug;gsT =       X mb X  nrq;Fj;Jauk;

      =     X  7cm X 10cm

      =  7cm X 5cm
   =  35cm2

gapw;rp

 1. fPNo jug;gl;Ls;s jsTUf;fspd; gug;gsit fhz;f

1). 2). 3).

4). 5). 6).

 2.

ABCD xU nrt;tfkhFk;. nrt;tfj;jpd;
eLg;Gs;spfs; x,y,p,z MFk;.

AB = 12cm, AD = 6cm vdpd; epow;wpa gFjpapd;
gug;gsitf; fhz;f

3. jug;gl;l Kf;Nfhzpapy; x ,dhy;
   Fwpf;fg;gl;l ePsj;ijf; fhz;f?
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$l;Lj; jsTUtpd; gug;gsT fhzy;

 c + k; :- $l;Lj; jsTUtpd; gug;gstpidf; fhz;f?

rJuj;jpd; gug;gsT = 10cm X 10cm
= 100cm2

Kf;Nfhzpapd; gug;gsT =      X 6cm X 8cm

       = 24cm2

gapw;rp
 1. fPNo jug;gl;Ls;s $l;Lj;jsTUf;fspd; gug;gsit fhz;f

1). 2). BC =8cm

3).

 2. jug;gl;l cUtpy; epow;wpa gFjpapd; gug;gsitf; fhz;f?
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